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	- ظلل الحرف المناظر للإجابة الصحيحة لكل سؤال في هذه الأوراق ثم  في نموذج الإجابة المرفق
- هناك إجابة واحدة صحيحة لكل سؤال
- في حالة تظليل أكثر من إجابة للسؤال الواحد تعتبر الإجابة خاطئة
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[image: image7.emf]3 kW

3 kW

3 kW

3 kW

3 kW

3 kW

A

B

C

D

E

 
	For the circuit shown in Fig-1, answer questions 1, 2, 3 & 4.
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	Fig-1

	1.
	V1 =
	a) 0 V
	b) 3 V
	c) 4 V
	d) –3 V
	e) 9 V

	
	
	
	
	
	
	

	2.
	V2 =
	a) 1 V
	b) 3 V
	c) 1 V
	d) –3 V
	e) 6 V

	
	
	
	
	
	
	

	3.
	V3 =
	a) 0 V
	b) -9 V
	c) 4 V
	d) –3 V
	e) –6 V

	
	
	
	
	
	
	

	4.
	By writing the nodal voltage equation of node #4,  V4   is given by

	
	
	a) 0 V
	b) 3 V
	c) 5 V
	d) –3 V
	e) –5 V
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	For the circuit shown in Fig-2, the equivalent resistance between any two terminals X& Y is RXY. Answer questions 5, 6, 7 and 8.
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	Fig-2

	5.
	RAB = 
	a) 0 
	b) 3 k
	c) 1.875 k
	d) 8 k
	e) 1.5 k

	
	
	
	
	
	
	

	6.
	RAE = 
	a) 0 
	b) 3 k
	c) 1.875 k
	d) 8 k
	e) 2.125 k

	
	
	
	
	
	
	

	7.
	RAC = 
	a) 0 
	b) 3 k
	c) 1.875 k
	d) 8 k
	e) 1.5 k

	
	
	
	
	
	
	

	8.
	REC = 
	a) 0 
	b) 3 k
	c) 1.875 k
	d) 8 k
	e) 1.5 k
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For the circuit shown in Fig-3,

answer questions 9, 10, 11 &12.
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	Fig-3

	9.
	The value of RL for maximum power transfer is

	
	
	a)  10 
	b) 14 
	c) 4 
	d) 22 
	e) 30 

	
	
	
	
	
	
	

	10.
	The open circuit voltage across terminals a&b (RL=∞) is

	
	
	a)  –12 V
	b) 12 V
	c) 28 V
	d) 36 V
	e) 60 V

	
	
	
	
	
	
	

	11.
	The short circuit current passing through terminals a&b (RL=0) is

	
	
	a)  1.2 A
	b) 2.8 A
	c) 3.6 A
	d) 9 A
	e) 3 A

	
	
	
	
	
	
	

	12.
	The maximum power that may be transferred to RL is

	
	
	a) 3.6 W
	b) 78.4 W
	c) 90 W
	d) 30 W
	e) 19.6 W
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	For the circuit shown in Fig-4,

answer questions 13, 14, 15& 16.
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	Fig-4

	13.
	Ix component due to the voltage source 42 V alone is

	
	
	a) 0.5 A
	b) 1.5 A
	c) 2 A
	d) –1.5 A
	e) -2 A

	
	
	
	
	
	
	

	14.
	Ix component due to the current source 7 A alone is

	
	
	a) 1 A
	b) 2 A
	c) 5 A
	d) 7 A
	e) -2 A

	
	
	
	
	
	
	

	15.
	Ix component due to the current source 14 A alone is

	
	
	a) –4 A
	b) 2 A
	c) 10 A
	d) –14 A
	e) 14 A

	
	
	
	
	
	
	

	16.
	Vx component due to the current source 14 A alone is

	
	
	a) -168 V
	b) -48 V
	c) 48 V
	d) 120 V
	e) 24 V



	For the circuit shown in Fig-5, answer questions 17, 18, 19& 20.
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	Fig-5

	17.
	Thevenin's equivalent resistance as seen by RL is

	
	RTh =
	a) 4 
	b) 6 
	c) 12 
	d) 10 
	e) 2 

	
	
	
	
	
	
	

	18.
	Norton's equivalent current between a&b terminals is

	
	IN = 
	a) 1 A
	b) 1.5 A
	c) 0.5 A
	d) 5 A
	e) 1.8 A

	
	
	
	
	
	
	

	19.
	The open circuit voltage across the terminals a-b is

	
	
	a) 18 V
	b) 10 V
	c) 2 V
	d) 0 V
	e) 6 V

	
	
	
	
	
	
	

	20.
	If RL = 8 , the current IL is

	
	
	a) 1 A
	b) 1.5 A
	c) 0.5 A
	d) 5 A
	e) 1.8 A
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	For the circuit shown in Fig-1, answer questions 1, 2, 3 & 4.


	
	Fig-1

	1.
	V1 =
	a) -3 V
	b) 3 V
	c) 4 V
	d) 0 V
	e) 9 V

	
	
	
	
	
	
	

	2.
	V2 =
	a) -3 V
	b) 3 V
	c) 1 V
	d) 0 V
	e) 6 V

	
	
	
	
	
	
	

	3.
	V3 =
	a) -3 V
	b) -6 V
	c) 4 V
	d) 0 V
	e) –9 V

	
	
	
	
	
	
	

	4.
	By writing the nodal voltage equation of node #4,  V4   is given by

	
	
	a) 0 V
	b) 3 V
	c) –5 V
	d) –3 V
	e) 5 V



	For the circuit shown in Fig-2, the equivalent resistance between any two terminals X& Y is RXY. Answer questions 5, 6, 7 and 8.
	
	Fig-2

	5.
	RAB = 
	a) 0 
	b) 3 k
	c) 1.5 k
	d) 8 k
	e) 1.875 k

	
	
	
	
	
	
	

	6.
	RAE = 
	a) 0 
	b) 3 k
	c) 2.125 k
	d) 8 k
	e) 1.875 k

	
	
	
	
	
	
	

	7.
	RAC = 
	a) 0 
	b) 3 k
	c) 1.5 k
	d) 8 k
	e) 1.875 k

	
	
	
	
	
	
	

	8.
	REC = 
	a) 0 
	b) 3 k
	c) 1.5 k
	d) 8 k
	e) 1.875 k


	
For the circuit shown in Fig-3,

answer questions 9, 10, 11 &12.
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	Fig-3

	9.
	The value of RL for maximum power transfer is

	
	
	a)  14 
	b) 10 
	c) 4 
	d) 22 
	e) 30 

	
	
	
	
	
	
	

	10.
	The open circuit voltage across terminals a&b (RL=∞) is

	
	
	a)  –12 V
	b) 12 V
	c) 60 V
	d) 36 V
	e) 28 V

	
	
	
	
	
	
	

	11.
	The short circuit current passing through terminals a&b (RL=0) is

	
	
	a)  2.8 A
	b) 1.2 A
	c) 3.6 A
	d) 9 A
	e) 3 A

	
	
	
	
	
	
	

	12.
	The maximum power that may be transferred to RL is

	
	
	a) 3.6 W
	b) 78.4 W
	c) 90 W
	d) 30 W
	e) 19.6 W



	For the circuit shown in Fig-4,

answer questions 13, 14, 15& 16.
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	Fig-4

	13.
	Ix component due to the voltage source 42 V alone is

	
	
	a) 0.5 A
	b) 1.5 A
	c) -2 A
	d) –1.5 A
	e) 2 A

	
	
	
	
	
	
	

	14.
	Ix component due to the current source 7 A alone is

	
	
	a) 2 A
	b) 1 A
	c) 5 A
	d) 7 A
	e) -2 A

	
	
	
	
	
	
	

	15.
	Ix component due to the current source 14 A alone is

	
	
	a) –14 A
	b) 2 A
	c) 10 A
	d) –4 A
	e) 14 A

	
	
	
	
	
	
	

	16.
	Vx component due to the current source 14 A alone is

	
	
	a) -168 V
	b) 48 V
	c) -48 V
	d) 120 V
	e) 24 V



	For the circuit shown in Fig-5, answer questions 17, 18, 19& 20.
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	Fig-5

	17.
	Thevenin's equivalent resistance as seen by RL is

	
	RTh =
	a) 2 
	b) 6 
	c) 12 
	d) 10 
	e) 4 

	
	
	
	
	
	
	

	18.
	Norton's equivalent current between a&b terminals is

	
	IN = 
	a) 1 A
	b) 0.5 A
	c) 1.5 A
	d) 5 A
	e) 1.8 A

	
	
	
	
	
	
	

	19.
	The open circuit voltage across the terminals a-b is

	
	
	a) 18 V
	b) 10 V
	c) 2 V
	d) 6 V
	e) 0 V

	
	
	
	
	
	
	

	20.
	If RL = 8 , the current IL is

	
	
	a) 1 A
	b) 1.5 A
	c) 5 A
	d) 0.5 A
	e) 1.8 A
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